ITI Wireman 2nd Year Module 7 Domestic Appliances — |

(1). Calculate the heat generated in a electric heater of 1000 Watt 240 V worked
for 5 minutes. | 1000 dT€ 240 V & [dgdd Blex | 5 e d &1 d3- IR I
3T B TOHT PR |

(A) 70.3 Kilo calories
(B) 70.5Kilo calories
(C) 72.1Kilo calories
(D) 71.6Kilo calories

Correct Answer : D

(2). Which fault in electric kettle the operator gets electric shock? | 3@%

B [y Y & HRUT YD DI foroleh BT STeeh] avdl g2
(A) Ground fault | UT3S Ff¢

(B) Short circuit | I Hlhe

(C) Open circuit in heating element | BIfciT dd H el Alabe
(D) Open circuit in power card | UTaR T8 H GdT Hidbe

Correct Answer : A

(3). Which material used to made the outer casing of electric geyser? | 3@%

TfioR &1 S8 31aRvr 591 & fore fog Irft &1 o forar Srar g2
(A) Ebonite | 3SHe
(B) Poly vinyl chloride | qﬁﬁma@m

(C) Castiron | PIXC TR




(D) Mild steel | Beh1 &Id

Correct Answer : D

(4). Which is the additional part used in automatic iron compared to non
automatic iron? | TR-IGEfeTd @R &1 gorT § Ta=ferd aig H wad Sifalad
YT DI A 5?

(A) Heal plate | 81 Wi
(B) Pressure plate | <dd @

(C) Chord wire | PIS dR
(D) Thermostat | YA

Correct Answer : D

(5). What is the main difference of single stroke bell over interrupter bell? |
EeR 99 DI a1 H RiTd Wb o 1 e 3k 1 8?

(A) Ring continuously | TR HeT ST
(B) It produce beep sound | "CI_G'Eﬂ'q ?HﬁWWT%
(C) Without magnetic coil | WWW$

(D) It did not ring continuously | g TR ol Soldl YT

Correct Answer : D

(6). Which domestic appliance is used to heat and maintain temperature of water

stored in it? | T BT IUHRUT T IUTNT ITH TURI UHT B1 7TH A 3R
3BT AYHM §-1E 1T & fort far Srar g2

(A) Geyser | ToR
(B) Immersion Heater | 3‘1?-‘2&[ é|€€




(C) Room Heater | FH B
(D) Hot plate | @_C'@_C'

Correct Answer : A

(7). What is the part marked as 'X'? | X' o 0 H fIfgd U &l Ugd?

(A) Bowl reflector | I3 YUciae
(B) Heating element | é”é‘lﬁ?ﬂﬁ_@

(C) Insulator | sﬁéa
(D) Switch | Rad

Correct Answer : A

(8). Which characteristics of bimetal strip, is used as thermostat in automatic

electric iron? | a@m@qﬁﬁ?iﬂﬁﬁ@w, WT[%’HE@IW RRA Y
YARCT & =Y T IUANT B! S 572

(A) Different expansion rate of metals | u@e’hﬁﬁﬁﬂﬁwa
(B) High resistivity | 3 UfeRIgSH T
(C) Heat conducting capacity | AT IdTeH &l

(D) High conductivity | 3= Tl



Correct Answer : A

(9). Where the heating element is placed in an immersion type heater? | é”é‘l

uferic &l SHRYA g1ex § Pl 3@ JIdl g2
(A) Near the outer seating | m R & urg
(B) Inside a hollow tube | Uh RCIRCLY| &S & 33

(C) Outside the body | B & STy R

(D) Below the body | EﬂET%:ﬂ%[

Correct Answer : B

(10). Which part protect the geyser if excess pressure developed inside the tank?

| afe ¢ & 3iex 3faRad gaTa IUT B ST Al HI AT HIT TR BT &1 Bl
o2

(A) Thermostat | YARCE

(B) Drain pipe | $1UT

(C) Bimetal | fg¥Tcdl™

(D) Fusible plug | TSI WMl

Correct Answer : D

(11). Which is an example for electromagnet? | faqu RASEACARRIARRY B T

87

(A) Electric bell | fasTelt &1 €t
(B) Geyser | ek

(C) Room Heater | H BIEX



(D) Kettle | ddail

Correct Answer : A

(12). What is the purpose of protection grooves at various places in a heater base
plate? | B1eX 9 Wi H fafirs QM 1R JReT @i &1 3529 A1 ]2

(A) Place the vessels firmly on heater plate | S I sf\ldﬁ e IR J-I\fiq\(‘lhl 3
(B) Protect the heating element from damage | Ikl dd &l &ri%r@a%m

(C) Retain the heating element firmly | é”é‘l dcd Bl J-I\fiq\(‘lhl | HOI‘J\%

(D) Radiate the heat properly | TH ) Sop B fafep g &3

Correct Answer : C

(13). Which is the formula to calculate the heat generated as per joule’s law? |

A & 8 & TR IUH 35T B! ITUHT B 61 G DI A1 62

(A) H=IRt/ Jcal

(B) H=1?Rt/ Jcal
(C) H=IR%t/ Jcal
(D) H=(IR)*t/ Jcal

Correct Answer : B



(14). What is the name of part of electric geyser marked as 'X'? | E@IW TfoR &
x' 3ifpd YT T A 1 52

) Bedl | i el "y
VEINE
Ol X
= E = ur
Sl et et
J}J_—}Z }@—' ny
Jk¥. L=y 0
e o
===

(A) Thermostat | YA

(B) Fusible plug | H'{J_j.\}d('i TSRl
(C) Pressure relief valve | URR el area
(D) Heating element | é”é‘l?‘%’lﬂ?

Correct Answer : D

(15). Which is used as a insulation around nichrome element encashed in metal

tube in cooking range? | Wiﬁf{ mwﬁ@wﬁnw%aﬁ 3R
SCRM & U H a1 SUaNT fod SiTdl 62

(A) Argon | 3TH

(B) Magnesium oxide | AU 3ifazs
(C) Helium oxide | BICIH SHFTSS

(D) Nitrogen | T3l




Correct Answer : B

(16). Which electrical effect gang type electric bell works? | GAC G| f&qu UHId

I T UHR faggd 9t Sl 62
(A) Heating effect | dld UHId

(B) Magnetic effect | ﬂaﬁnmna
(C) Chemical effect | IS THG
(D) X'ray effect | X X gHTd

Correct Answer : B

(17). Which material is used as heating element in electric kettle? | E@IW

Fadl # gifeT dd & U food uerd o1 ST fobar Sirar g2
(A) Eureka | ‘CBW

(B) Tungsten | TR
(C) Manganin |'E|'T|7-ﬁ:f
(D) Nichrome | IGEIL

Correct Answer : D

(18). What is the name of the part of electriciron? | ﬁ@ﬂﬁ%ﬁ% HAT T [TH




(A) Sole plate | ¥l &iT

(B) Mica insulation | 31Ydh S=gcIxM
(C) Pressure plate | URR &

(D) Handle | 88d

(Correct Answer : A

(19). What is the reason for water is not heated up in geyser? | oR ® gt T T
B BT HRU T G?

(A) Burnout heating element | a:f\}ﬂ?)?gjlﬁ"[ac_d

(B) Leaking tap | NIERIG

(C) Thermostat setting is too high | Qﬂﬁ?@ﬁﬂa@ﬁﬁﬁ%
(D) Leakage around the thermostat | YARE & MUy R

Correct Answer : A

(20). What is the function of neutral path in AC supply system for appliances?

JUHN & foTE AC ST YOITelt § de Y &1 T H1A ]2

(A) Provides voltage level constant | diee ol W) RRI® UgH &l %

(B) Reduces voltage drop in wiring | IR H e ol \§TH DHH Dhdl %
(C) Provides current return path | WWUHWW%
(D) Maintain load current constant | ?ﬁ@'Wﬁ@RWQ@

Correct Answer : C

(21). Which metal is used to make contact points of thermostat? | uﬁ@z%

Tues foig S & fore for arg &1 Iua fohar Sira 82




(A) Copper | TIST
(B) Silver | TigT
(C) Aluminium | SegHIT=TH
(D) Brass | Uldd

Correct Answer : B

(22). Which appliance is the combination of oven and hot plate? | 3faq GﬁTB'T_C'
@Ic &1 Ao I A1 UHU §7

(A) Cooking range | BT ¥l
(B) Electriciron | Uaifdceh S¥dl
(C) Geyser | TioR
(D) Kettle | dodail

Correct Answer : A

(23). Which device is used in annunciator panel? | Q"I"Ilr%iadi LRJ'-IQ'I Ay

USRI BT ST b SITell &2
(A) Buzzer | X

(B) LED

(C) Hooter | 8CX

(D) Loud speaker | A SHIH

Correct Answer : A



(24). Which material is used as heat insulation to avoid excess heat losses in

electric geyser? | miﬂmﬁ ifafed TH & RERSIE! REEE %ﬁ“l'qmﬁ
ZAYH & ¥ § foog i &1 I far Srar g2

(A) Paper | DTS
(B) Wood | el
(C) Glass wool | T8 gd
(D) Rubber | Xdg

Correct Answer : C

(25). Which is the purpose of earthing kettle? | 31T el 1 d.‘E\'(Qq ] %?
(A) To control heat | ﬁﬁ%ﬁﬁ%%@

(B) To save energy | WW&‘WT%Q

(C) For quick heat | aﬁﬁﬁ%m

(D) To avoid electric shock to operator | 3R DI faolcl b acBb REEIER

Correct Answer : D




